Line #				CMI, Inc./dba Intoxilyzer of Kentucky, Inc.		Intoximeters, Inc.			
	Description	Qty	UOM	Unit Price	Extended Price	Unit Price	Extended Price		
	PRELIMINARY BREATH TESTING INSTRUMENT ALCO SENSOR FST	250	EA	\$ 439.00	\$109,750.00	\$ 330.00	\$82,500.00		
	Brand:			Intoxilyzer		Intoximters			
1	Model:			800		Alco-Sensor FST			
	Delivery time after receipt of order (number/days):			7/days					
	EVIDENTIARY BREATH TESTING INSTRUMENT DATAMASTER DMT	5	EA	No Bid	No Bid	\$10,095.00	\$ 50,475.00		
2	Brand:					Intoximeters			
	Model:					Intox DMT (Datamaster DMT)			
	EVIDENTIARY BREATH TESTING INSTRUMENT INTOXILYZER 9000	5	EA	\$ 9,456.95	\$ 47,284.75	N/A	N/A		
3	Brand:			Intoxilyzer		N/A			
	Model:			9000		N/A			
	OPTION: DRY GAS CYLINDERS FOR EVIDENTIARY BREATH TESTING INSTRUMENT OPTIONAL								
	Size: 108L (0.080)Item: 22-0780-03	22	EA	No bid	No bid	\$ 186.50	\$ 4,103.00		
4	Size: 108L (0.150)Item: 22-1075-03	22	EA	No bid	No bid	\$ 186.50	\$ 4,103.00		
7	ALTERNATIVE:								
	Size: 105L (0.80)Item: 340234								
	Size: 105L (0.080)Item:	22	EA	\$ 184.64*	\$ 4,062.08				
	Size: 58L (0.080)Item: 340248	22	EA	\$ 157.50 *	\$ 3,465.00				
	OPTION: WET BATH SIMULATORFOR EVI								
5		22	EA	\$ 1,289.00	\$ 28,358.00	\$ 1,300.00	\$ 28,600.00		
	ALTERNATIVE:			I		1			

Line #				CMI, Inc./dba Intoxilyzer of Kentucky, Inc.		Intoximeters, Inc.	
Lin	Description	Qty	UOM	Unit Price	Extended Price	Unit Price	Extended Price
6	Intoxilyzer 9000 Software Configuration: One-time fee to configure current Intoxilyzer 9000 software utilized by Nebraska law enforcement agencies to include graph of subject breath test.	1	LOT		\$5,000.00		
Total					\$ 197,919.83		\$ 169,781.00
Payment Terms						0 %- 0 DAYS	
Delivery Days	s ARO			7-45 DAYS		60 DAYS	
				* Per line 4 of Cylinders - A hazardous fee shipment of 1 Section III.I. Notwithstandi provisions or in other contra purchasing we software cont Intoxilyzer 900 entirety, a proproduct of CM intellectual product of CM intellectual production with purchase. Pla payment of a order based upricing proposacceptance of which shall support of the sagreement of the sagr	0 %- 0 DAYS 7-45 DAYS * Per line 4 of ITB- Dry Gas Cylinders - A \$44.00 hazardous fee will apply per shipment of 1-12 cylinders. Section III.I. Notwithstanding any provisions or terms set forth in other contracts or agency purchasing web sites, the software contained in the Intoxilyzer 9000 is, in its entirety, a proprietary		1. a. New 110-06 Section Sensor FST of .000 to .440 1. New Alco- Model #40-2010- Amaster now ox DMT. 5. Delivery ds on quantity lered. Every made to deliver s.

Line #			CMI, Inc./dba Intoxilyzer of Kentucky, Inc.		Intoximeters, Inc.		
	Description	Qty	UOM	Unit Price	Extended Price	Unit Price	Extended Price
	Comments			Unit Price Extended			

Line #				CMI, Inc./dba Intoxilyzer of Kentucky, Inc.		Intoximeters, Inc.	
	Description	Qty	ИОМ	Unit Price	Extended Price	Unit Price	Extended Price
	Comments			Section II. N. Rejected Section VI. C. 1. Intoxilyzer 800 - The Intoxilyzer 800 is the latest Preliminary Breath Testing Device in the market. The Intxilyzer 800 offers many advanced and unique features not available in older models - such as the SAFE SANITARY SIDE EXHAUST (SSSE). The SSSE feature provides enhanced officer safety against the potential harmful exhaled breath of the subject. A list of unique Intoxilyzer 800 features is included as an attachment to this bid response.			
	Comments			exceeds all the above listed to specifications Intoxilyzer 80 by either the library with the second properties of the mentioned process of the intoxilyzer incorporates are multicolor grafor easy visib conditions. Second	echnical s. The 0 can be used left or right afely positioned subject. As eviously, the the exhaled away from the orming the test. er 800 a large bright aphic display ility in all light ection VI. E. er 800 meets or even of the echnical		